Word Problems for Making Ten Fluently

Use base ten blocks to solve these problems.

1. Dashawn has 8 puppy stickers. Amy gives him 4 more. How many puppy
stickers does Dashawn have now?

2. Dashawn has 6 puppy stickers. Amy gives him some more. Now Dashawn has
13 puppy stickers. How many did Amy give JD?

3. Dashawn had some puppy stickers. Amy gave him 6 more. Now Dashawn has
11 puppy stickers. How many did he have at first?

4. Dashawn had 14 puppy stickers. He gave 3 to Amy. How many does Dashawn
have now?

5. Dashawn had 17 puppy stickers. He gave some to Amy. Now he has 3 puppy
stickers. How many did he give to Amy?

6. Dashawn had some puppy stickers. He gave 9 to Amy. Now he has 2 puppy
stickers left. How many puppy stickers did he have at first?
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